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<E 1> 187 284 &9 £3 (EHl: okl %)
KB Agt Lt <2 7l o| gt DGB BS 2SS
&Z7F QoQ (1.8) 0.6 1.4 0.5 1.0 1.8 3.0 4.0 1.9
NIM 2.72 3.20 2.00 2.22 1.93 2.18 2.63 2.41 2.41
QoQ (0.07) (0.07) (0.01) (0.08) (0.05) (0.04) (0.02) (0.19) (0.07)
o &8 0.70 0.80 0.54 1.24 0.80 0.47 0.41 0.59 0.70
QoQ (0.45) 0.12 (1.51) 0.17 0.01 (0.75) (0.03) (0.28) (0.34)
0| Xtol Y 1,721 1,655 1,121 1,725 1,061 585 234 272 8,376
|0 xto| 204 417 488 276 85 116 22 26 1,634
90|y 1,925 2,073 1,609 2,001 1,146 701 256 298 10,010
o & Ak 2zt 371 377 294 642 292 128 25 43 2,172
k| 1,004 1,007 883 962 463 333 113 135 4,899
Zatole 550 689 433 397 391 241 118 120 2,939
E27|x0[ 405 516 313 371 305 188 80 94 2,272
QoQ 185.0 35.8 (314.1) 161.5 116.7 205.7 125.8 79.9 181.2
YoY (32.8) (37.5) (76.2) (42.4) (35.7_ (40.1) (7.3) (14.6) (48.0
A2 BHREXEH
<& 2> 1Q13 80|22l (9] Alotel)
KB At st <2 71dd o|gt DGB BS 2|
B == 0 (120) 0 (64) 0 (7) 0 0 (191)
STX (10) (20) (7) (37)
7| E} (110) (44) (154)
RIS s (76) (25) (30) (26) (25) 0 0 0 (182)
ZAF (36) (20) (10) (66)
SO A (40) (25) (65)
oo 0 0
7|Ef 0 (10) (16) (25) (51)
MEst gotaa (20) (30) (4) (54)
7| E} 0 30 35 65
A (96) (115) (60) (90) 10 (7) (4) 0 (362)




<E 3> 2% 20131t 20149 M= FFH WY (XL ote!, 9%)
1Q13 HHAAMA Ha = Ha % HSE
1Q13F QoQ YoY HMHMA ciH| Fnguide Bloomberg 2013F  2014F 2013F  2014F 2013F 2014F
KB 405 185.0 (32.8) (15.9) 482 468 1,765 1,942 1,709 1,831 (8.2) (5.7)
Al 516  35.8 (37.5) (11.7) 585 599 1,949 2,020 2,027 2,124 41 5.2
Siet 313 =™ (76.2) (8.6) 342 353 1,188 1,324 1,188 1,324 0.0 0.0
<2 371 161.5 (42.4) (8.9) 408 398 1,246 1,529 1,165 1,379 (6.6) (9.9)
7l 305 116.7 (35.7) (4.1) 318 316 1,181 1,252 1,089 1,137 (7.8) (9.2)
2|5t 188 205.7 (40.1) 1.2 186 162 720 794 690 736 (4.1)  (7.3)
DGB 80 125.8 (7.3) 0.8 80 74 300 344 302 337 0.6 (1.8)
BS 94  79.9 (14.6) (6.2) 100 100 354 399 327 366 (7.4)  (8.5)
Al 2,272 181.2 (48.0) (9.1) 2,500 2,470 8,702 9,604 8,497 9,234 (2.4) (3.9
g SEEXEH
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<(E 4> KBE8 S EZF| valuation

=1

(E191: %, 2, o)

PBR valuation
X|&7Fs ROE 6.8
Mkt risk premium 7.0
H| Ef 1.1
Risk free rate 2.75
A2H|-E 9.8
dFHTE 1.0
S ¥ PBR 0.7
FY13F BVPS 66,847
3t 48,000
Z7t 35,800
A50i 341
xE: FEEXSH
<E 5 HHE|X| valuation
FAlold W SEFI} AlF 5! Valuation
=5 Sggolel EXHiol9] 0|9 EPS BPS PER PBR ROE ROA
(i) @ejg) @) @) [C) I G )R C )] (%) (%)
KBEE& EXtel A o= 2011A 9,074 5,142 2,373 6,142 59,319 5.8 0.6 11.6 0.9
(105560) SEFIHE) 57,000 2012A 8,175 4,289 1,703 4,408 63,438 8.1 0.6 7.2 0.6
#MIH4/15, ) 35,800 2013F 8,003 3,910 1,709 4,263 66,847 8.4 0.5 6.8 0.6
A7 (M) 13,831  2014F 8,311 4,096 1,831 4,579 70,578 3.0 0.5 6.9 0.6
2015F 8,650 4,309 1,944 4,871 74,506 2.8 0.2 6.9 0.6
AlskR| FRie|A o= 2011A 9,276 5,141 3,100 5,803 41,138 6.8 1.0 14.4 1.0
(055550) SEFIHE) 51,000 2012A 8,603 4,543 2,323 4,768 52,566 8.2 0.7 10.0 0.8
AMIH4/15, &) 39,250 2013F 8,264 4,083 2,027 4,145 56,089 9.5 0.7 7.6 0.6
AlZFEH (M) 18,612  2014F 8,408 4,101 2,124 4,349 59,699 9.0 0.7 7.5 0.7
2015F 8,634 4,198 2171 4,447 63,345 3.1 0.2 7.2 0.7
sz g EXtel A o= 2011A 4,460 2,353 1,222 5,072 57,180 7.1 0.6 10.0 0.7
(086790) SEFIHE) 50,000 2012A 7,309 3,496 1,602 6,648 64,090 5.4 0.6 11.0 0.7
#MIH4/15, 2) 35,800 2013F 6,398 2,792 1,188 4,305 71,207 8.3 0.5 6.8 0.4
A7 (M) 8,701  2014F 6,652 2,987 1,324 4,799 75,406 7.5 0.5 6.5 0.4
2015F 6,958 3,234 1,464 5,307 80,013 2.6 0.2 6.8 0.5
<al2e FRie|A =2 2011A 10,133 6,350 2,156 2,682 21,821 4.4 0.5 13.4 0.7
(053000) SEFIHE) - 2012A 8,506 4,550 1,584 1,970 23,161 5.9 0.5 8.8 0.5
SR 7H4/15, &) 11,700  2013F 7,922 3,986 1,165 1,448 23,754 8.1 0.5 6.2 0.4
AlZFEH (M) 9,430 2014F 8,038 3,985 1,379 1,715 24,626 6.8 0.5 7.1 0.4
2015F 8,314 4,139 1,563 1,944 25,736 7.1 0.5 7.7 0.5
lded EXtel A =2 2011A 5,041 3,374 1,456 2,386 21,945 5.1 0.6 12.1 0.8
(024110) SEFIHE) - 2012A 4,559 2,683 1,169 1,921 22,760 6.4 0.5 8.6 0.6
#MIH4/15, 2) 12,250 2013F 4,486 2,598 1,089 1,817 23,079 6.7 0.5 7.9 0.5
AZEH(MA ) 6,689 2014F 4,573 2,623 1,137 1,898 24,106 6.5 0.5 8.0 0.5
2015F 4,768 2,742 1,256 2,096 25,231 6.6 0.5 8.5 0.6
DGBZ& Fxie|A o= 2011A 1,013 546 306 2,281 17,093 6.8 0.9 14.2 1.0
(139130) SEF7HE) 21,000 2012A 956 462 273 2,039 18,823 7.7 0.8 11.4 0.8
SR 7H4/15, &) 15,600 2013F 1,034 568 302 2,254 20,505 6.9 0.8 1.5 0.9
AN (M AR) 2,091  2014F 1,100 619 337 2,516 22,349 6.2 0.7 1.7 0.9
2015F 1,190 696 387 2,890 24,568 4.8 0.6 12.3 0.9
BSZ2& EXtel A o= 2011A 1,181 692 400 2,070 15,281 7.0 0.9 14.8 1.1
(138930) SEFIHE) 19,000 2012A 1,250 676 361 1,868 16,833 7.7 0.9 11.6 0.9
#MIH4/15, 2) 14,400 2013F 1,229 619 327 1,693 18,056 8.5 0.8 9.7 0.7
AlZIEH (Mel) 2,785 2014F 1,333 684 366 1,891 19,377 7.6 0.7 10.1 0.8
2015F 1,460 792 432 2,233 20,939 6.2 0.7 11.1 0.8
R ZHAL, BREXNSHE
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FR2iH 3 SEFILHAUS

el

rio

ES(T=HS) HAIYRE FALlA SEFIL  ES(IEH3) HAIAAL FAlelH SEFIL
71g4288(024110) 2011.05.18 o= 23,000 2012.08.01 o= 51,000
32 8x
2011.08.24 NA - 0 =8IF(08679 2011.08.24 NA -
2011.10.19 o= 23,000 2011.10.19 o= 51,000
2012.01.16 o= 20,000 2012.03.30 o= 56,000
2012.02.20 B 17,000 2012.10.05 o= 50,000
2012.09.28 B - KB&-&(105560) 2011.05.18 =g 62,0008
<2|=2:8(053000) 2011.08.24 NA - 2011.08.24 NA -
2011.10.19 B 14,000 2011.10.19 o= 57,000
2012.09.28 B - 2013.04.15 o= 48,000
AI8HX|35(055550) 2011.05.05 o= 63,000 BSE-&8X13%(138930) 2011.08.24 NA -
2011.05.18 o= 58,000 2011.10.19 o= 19,000¥
x|
2011.08.24 NA - S)GBE% (13013 2011.10.19 o= 21,000
2011.10.19 LIRS 61,0008
7|H42&(024110) <2/=8(053000)
25,000 18,000
f— - 16,000
20,000 L 14,000
- 12,000
F 15,000
F 10,000
- 8,000
F 10,000
- 6,000
- 5,000 4000
F 2,000
T T T T T 0 T T T T T 0
Apr-11  Aug-11  Dec-11  Apr-12  Aug-12  Dec-12  Apr-13 Apr-11  Aug-11  Dec-11  Apr-12 Aug-12  Dec-12
LI8kX|3(055550) SH-t=-8X13(086790)
70,000 60,000
_\_ - 60,000 —r—-‘—» 50,000
F 50,000
- 40,000
- 40,000
F 30,000
F 30,000
F 20,000
F 20,000
| 10,000 + 10,000
. . . . . 0 T T T T T 0
Apr-11  Aug-ll  Dec-ll  Apr-12  Aug-l2  Dec-12 Apr-ll  Aug-ll  Dec-ll  Apr-l2  Aug-12  Dec-12
KBZ&(105560) BS=&I5(138930)
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